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(1) ([ACUIL-TAL odell UHLAL YL ARAL 6.

2)  ([Qetat-THiedl slehual AL ualAL Br @l
(3)  [Aeta-TI-L w3t .9 srlvaud ©.

(4)  UsRAL UL WG 242 wR1d 8.

(5)  orHull oL 2is AoilEd UL L EUE 8.

CISTNE |

el AFagRiRAL 2UB2Y2 2dRlM s2al Sldl aga ¢ a3zl Yot a2 wRuHl
Heg2l d AHMAL AResRAL 21822 2AaR1e 5ell Ud Ass] 531 s 2

L[S $lR212lA(harmonic distortion) 8] & ? @MlAs Slr2lel-A-l aLai-Al Hi2 =l [big
(three point) g lal 2 53U

od 2 Rloladl vl 2L Y Rlod deel dad amadl loladl
alaiSscAl AL 12 Horor A58 dB = 20 log (I /1) + 10 log (R /R;) cliRdl.

() dleeHlezAl Rl S<Sser dxls Gular qeldl.

(i) o WRMAA Y2 5V 2 2062y 2.5 V Sl i Iy daul 2182y
AAGiLHl (impedances) AHIA SR ol URY UR dB Sl 2eiazl 531

YGid s2a CE [AadsAl =0l (Al (cascaded three stages) Al WRUA-AL 226
15[l §1R1 A L2y ATt ot Hell.

CE ARl [ 2ug[d (low frequency) IRMIRL WR 21HeR GlRMIL
FURAleRAL 2AAR AL

-~

UHAAL : ALRLASI IR A1, 20UR{H2 (Approximate) CE G224 2414/~ Hidel.

-~

2R dd (square wave) Hi2dl AR5 B2 2t uldeud UMl
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5. (A) EX-OR el ([drcd Amaydl 2AML 3 Y2 244 4 442 EX-OR ezl Hist uRku
SIRAUUH €11
(B) HIRLS AMNEA 142 ARl HE2 2A1G2Y2 high HOLE :
0000, 0001, 0010, 0011, 1010, 1011, 1100, 1101, 1110 24 1111.
POl UL 51885 (Truth-table) A slgHY otlldl. slfHu-Al Gulbl 31 U0
OffErar UHISRL HOAL AL 2ALANBLS UH 2415 Wss2 (sum of product) lons HWRUA ERL

6.  (A) RS (& el [Aaqd Auoydl 24l
(B) JK (&M seltu-l (flipflop) (A2l At el

7. (A) T-2%0ldsl A 1 W0Ldel HIE HRUURA UHGE ML 3WARQLAL =t 3= 4l
ARl Aol
(B) HRHH UIAR 21453 WA (Maximum Power Transfer Theorem) AL A AU SR

8. (A) UHIR 2Arile URUA (Ao 2l 83U far RO AR A Z, =R = % Hadl.

(B) Aly ancisil [drid Ayl AL

[Qett-1T
9. 25l BR 2L : (S1EURL2U8)
(1) sdl UWDUHL AHAFagRAL Y2 dleear- Hed aleidl open Bz W Ay
(source voltage) o ZC—;L, €2 ?
(2)  ARESRRAL 2B2Y2 dR0L 2AZUHL SRIZILIA UL HE HA S ?
(3) 5CUU-B (class-B) AR ezl 2@ 8 ?
(4) dB 33aAl GUALL SAL AU ?
(5) AU ML : AL (Sag)
(6) AU ML : 21-AR23AL ZlRuS~$5241, gm
(7) CE AagliRAL 5145 (cascade) ML KAl Al 2AML.
(8) 2l-AlzeR Faslir oY (transistor amplifier stage) -l 552 HI2 ;l-—“\*lfz\l?{?i
(transformer) Al GUALLAL H1AU SRUEL 531 ?
(9) 1 6lz (1 bit) HHRL 2R WRUAA A AL
(10) AR AU HI2 514U (Karnaugh map) i s2ell gl 621 2
(11) $l-31l (De-Morgan’s) ML Axs2061 evil.
(12) off@uAAHs0L Y = AA + A B+ AB + B AR0ilsR0L 531,
(13) cludere MUdaL 2A2a 8 ?
(14) QAL UHUA 524 Quil.
(15) 2ADURAZL UHUA sUA vl
(16) Q gs2reAl vl @l
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Instructions : (1) All questions in Section-I carry equal marks.
(2) Attempt any three questions in Section-I.
(3)  Question-9 in Section-II is compulsory.
(4) Symbols have their usual meaning.

(5) Number to right side of questions indicates marks.

SECTION-I

1.  (A) What would be the output resistance of an ideal amplifier ? Explain it with
necessary formula and circuit. How one can determine output resistance of an
amplifier ? 7

(B) What is harmonic distortion ? Discuss three point method of calculating harmonic
distortion. 7

2. (A) Define bel and decibel. Explain zero decibel reference level. Give characteristics
of decibel. Derive dB = 20 log (I /I;) + 10 log (R /R;) 7

(B) (1) Describe uses of a voltmeter as a decibel indicator.

(i)  If the input to a network was 5 V and the output 2.5 V, and the input and

output impedances were equal, determine the dB gain across the network. 7
3. (A) Draw neat circuit diagram of three cascaded stages of coupled CE amplifier and
derive the equation for voltage gain. 7

(B) Explain the effect of emitter bypass capacitor on low frequency response of CE
amplifier. 7

4.  (A) Explain: Approximate CE High frequency model with a resistive load.

(B) Explain amplifier high frequency response for the square wave.
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5. (A)

(B)

6. (A)
(B)
7. (A)

(B)

8. (A)

(B)

Explain EX-OR gate in detail. Draw only circuit diagrams of 3 input and 4 input
EX-OR gates.

Suppose outputs is high for the input conditions :
0000, 0001, 0010, 0011, 1010, 1011, 1100, 1101, 1110 and 1111.
Draw the corresponding truth-table and Karnaugh map.

Derive simplified Boolean equation using Karnaugh map and draw the
corresponding sum of product logic circuit.

Explain in detail RS flipflop.
Write a note on JK flipflop.

Explain the method to convert a T-network and m-network into equivalent
network and vice versa by deriving necessary formula.

State and prove “Maximum Power Transfer Theorem”.

Describe parallel resonance circuit in detail. Derive an equation of far and obtain
L
Zar “RarT
CR
Explain in detail the Lattice Network.

SECTION-II

9.  Answer in short : (Any Eight)

(1

(2)
3)
4
()
(6)
(7)
(8)

)

Under what conditions is the input voltage to an amplifier substantially the same
as the open circuit source voltage ?

Why there is distortion at the output waveform in an amplifier ?
What is Class-B amplifer ?

Where is dB scale used ?

Define : Sag

Define : Trans-conductance gm of transistor.

Name the methods to cascade CE amplifier.

What is the principle advantage of using transformer to cascade transistor
amplifier stages.

Name the circuit used as 1 bit memory storage device.

(10) How many entries are there on a four variables Karnaugh map ?
(11) Write equations of De-Morgan’s theorem.

(12) Simplify Boolean equation Y =A A + AB+ AB + B.

(13) What is bilateral network ?

(14) Write statement of Thevenin’s theorem.

(15) State the Reciprocity theorem.

(16) Define Q factor.
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